
                                                                                    

 

 

คาํอธิบายคาํวจิารณ์ข้อสอบ 

โครงการ “Thailand Spelling Bee, TSB2024” การแข่งขันด้านคําศัพท์และการสะกดคําภาษาองักฤษ 

  ระดับ  Level 5: (ม.4 – ม.6) รวม 5 ข้อ 

   8. Choose the correct antonym for the given word: tolerant 

(1) realistic     (2) merciless 

(3) visible     (4) inflexible 

เฉลยข้อ 2 และ 4 

คาํอธิบายของผูท้รงคุณวุฒิ :  

Tolerant refers to the ability to accept or endure opinions, behaviors, or beliefs that are different from 

one's own. It implies an openness and willingness to respect others, even if their views or actions are 

not aligned with one's own. 

Merciless, on the other hand, describes a lack of compassion or forgiveness. It indicates a harsh and 

unforgiving attitude towards others, showing no sympathy or leniency. 

In essence, tolerant involves understanding and accepting differences, whereas merciless involves a 

harsh, unfeeling attitude. The contrast between being accepting and showing no compassion highlights 

why they are considered antonyms. 

Merciless: This term refers to a lack of compassion or forgiveness, which contrasts with the idea of 

being tolerant, as tolerance involves accepting and understanding others even if one might disagree 

with them. Mercilessness implies a harsh and unforgiving attitude, which is opposite to the acceptance 

associated with tolerance. 

Inflexible: This term describes an unwillingness to adapt or change one's views or behavior. 

Inflexibility contrasts with tolerance because tolerance often requires the ability to adapt or 

accommodate differing perspectives and behaviors. An inflexible person might be rigid in their beliefs 

or actions, showing little acceptance of others' differences. 

ขอ้ 2 และ 4 เป็นคาํตอบท่ีถูกตอ้งเน่ืองจากไม่มีบริบทใหพ้ิจารณาดงันั้นทั้ง 2 คาํสามารถเป็น antonym ได ้



63.  How many words in the list below are spelled incorrectly? 

superficially, reuniun, elimination, triology 

(1) 1 word       (2) 2 words 

(3) 3 words      (4) 4 words 

เฉลยข้อ 2  

คาํอธิบายของผูท้รงคุณวุฒิ : 2 words (reuniun should be reunion, triology should be trilogy) 

triology เป็นคาํท่ีสะกดผิด ท่ีถูกคือ trilogy 

 
อา้งอิง:  

1. https://dictionary.cambridge.org/spellcheck/english/?q=triology 

2. https://dict.longdo.com/search/TRILOGY 

ยนืยนัคาํตอบ ขอ้ 2 เป็นคาํตอบท่ีถูกตอ้ง 

 



73.  How many misspelled words does the following text have? 

“Protein consumption constitutes a pivotal component of human nutrition, exerting profound 

effects on physiological processes. Integral to cellular structure and function, proteins serve as the building 

blocks of tissues, enzymes, hormones, and antibodies. The ingrestion of adequate protein facilitates the 

maintenance of lean body mass and promotes tissue repair and regeneration. Moreover, dietary proteins 

supply essential amino acids crucial for the synthesis of new proteins within the body. Insuficient protein 

intake may lead to detrimental outcomes, including impaired growth, compromised immune function, and 

diminished muscle mass. Notably, protein quality and source influence its physiological impact, with 

complete protein sources contaning all essential amino acids being particularly beneficial. Furthermore, 

protein consumption plays a pivotal role in supporting weight management by enhancing satiety and 

regulating metabolic processes. In summary, prioritising protein ingestion within the diet is imperative for 

obtimal health and wellbeing, underlining its indispensable role in sustaining various physiological 

functions.” 

(1) 1 word   (2) 2 words   (3) 3 words   (4) 4 words 

เฉลยข้อ 4 

คาํอธิบายของผูท้รงคุณวุฒิ :  

73. ตอบ (4) 4 words (ingrestion should be ingestion, Insuficient should be Insufficient, 
contaning should be containing, obtimal should be optimal) 

 
“Protein consumption constitutes a pivotal component of human nutrition, exerting 

profound effects on physiological processes. Integral to cellular structure and function, proteins 
serve as the building blocks of tissues, enzymes, hormones, and antibodies. The ingrestion of 
adequate protein facilitates the maintenance of lean body mass and promotes tissue repair and 
regeneration. Moreover, dietary proteins supply essential amino acids crucial for the synthesis of 
new proteins within the body. Insuficient protein intake may lead to detrimental outcomes, 
including impaired growth, compromised immune function, and diminished muscle mass. 
Notably, protein quality and source influence its physiological impact, with complete protein 
sources contaning all essential amino acids being particularly beneficial. Furthermore, protein 
consumption plays a pivotal role in supporting weight management by enhancing satiety and 
regulating metabolic processes. In summary, prioritising protein ingestion within the diet is 
imperative for obtimal health and wellbeing, underlining its indispensable role in sustaining 
various physiological functions.” 
 

ยนืยนัคาํตอบ ขอ้ 4 เป็นคาํตอบท่ีถูกตอ้ง คาํท่ีวิจารณ์มาไม่ไดส้ะกดผิดค่ะ 

 



74.  How many misspelled words does the following text have? 

“As the sun sets, a gentle murmur fills the air, signalling the end of anather day. The soft rustle of 

leaves precedes the arrival of dusk, a peaceful transition from light to darkness. Birds chirp their final 

mellodies before settling into their nests for the night. The murmur of voices fades as people retreat to 

their homes, seeking comfort and solace. In the quiet of the evening, nature's symfony takes centre stage, a 

serene prelude to the night ahead. And so, the cycle continues, each murmur of the day preceding the 

tranquillity of the night.” 

(1) 1 word   (2) 2 words   (3) 3 words   (4) 4 words 

เฉลยข้อ 3 

คาํอธิบายของผูท้รงคุณวุฒิ :  อา้งอิงจากระเบียบการหนา้ท่ี 6 ท่ี 

https://www.taccontest.com/spellingbee/process/file/TSB.pdf?class=process  

 
74. ตอบ (3) 3 words (anather should be another, mellodies should be melodies, symfony 

should be symphony) 
 

“As the sun sets, a gentle murmur fills the air, signalling the end of anather day. The soft 
rustle of leaves precedes the arrival of dusk, a peaceful transition from light to darkness. Birds chirp 
their final mellodies before settling into their nests for the night. The murmur of voices fades as 
people retreat to their homes, seeking comfort and solace. In the quiet of the evening, nature's 
symfony takes centre stage, a serene prelude to the night ahead. And so, the cycle continues, each 
murmur of the day preceding the tranquillity of the night.” 
ทั้งน้ีคาํท่ีผิดมี 3 คาํ และไม่ใช่คาํท่ีวิจารณ์มาค่ะ  

ดงันั้นยนืยนัคาํตอบขอ้ท่ี 3 เป็นคาํตอบท่ีถูกตอ้งท่ีสุด คาํท่ีส่งวิจารณ์มาไม่ไดส้ะกดผิดค่ะ 

 

 

 

 

 

 

https://www.taccontest.com/spellingbee/process/file/TSB.pdf?class=process


75. How many misspelled words does the following text have? 

“When faced with uncertrainty, there's a likelihood we may feel hesitant. Sometimes, the answers 

to our questions seem questionable, leaving us perplexed. Howerer, it's important to embrace uncertainty 

as a natural part of life. Rather than fearing the unkown, we can approach it with curiosity and openness. 

By acknowledging the questionable aspects of life, we create opportunities for growth and discovery. 

Ultimately, it's through questioning and expluring that we uncover the truths hidden within uncertainty.” 

(1) 1 word   (2) 2 words   (3) 3 words   (4) 4 words 

เฉลยข้อ 4 

คาํอธิบายของผูท้รงคุณวุฒิ : 4 words (uncertrainty should be uncertainty, Hoverer should be 
However, unkown should be unknown, expluring should be exploring) 
 

“When faced with uncertrainty, there's a likelihood we may feel hesitant. 
Sometimes, the answers to our questions seem questionable, leaving us perplexed. Hovewer, 
it's important to embrace uncertainty as a natural part of life. Rather than fearing the unkown, 
we can approach it with curiosity and openness. By acknowledging the questionable aspects 
of life, we create opportunities for growth and discovery. Ultimately, it's through questioning 
and expluring that we uncover the truths hidden within uncertainty.” 
ดงันั้นยนืยนัคาํตอบขอ้ท่ี 4 เป็นคาํตอบท่ีถูกตอ้งท่ีสุด 

 

 

 

 

 

 

 

 

 

 

 


